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“6eanOBb|M = 1,8532 kM
TN T

"; ‘pnOHraM = 5280 dytam =

,a.“i aM = 201,168 m
yoaan ~IOO NHKaM = 20,1168 M

g

.ﬁ'-"li“ 1 po.u (nonb, nep4) = 5,5 apaam =
i ‘3‘-?.

- .
— & —aApa-=3 y=rawr 09144M
= “""'—' YT = ﬁaHAaM = 12 gronmam = 0,3048 M
55:' = 4 movimam = 10,16 cm

LM = 12 nuHnsaM = 72 Toukam = 1 000 Mmnam =
2,54 cm

) MHUA= 6 ToykaM = 2,1167 MM
1 Toyka = 0,353 MM

1 mun = 0,0254 mm

\

.,.“u

Mepbl naowjaam

1 munga? = 640 akpam = 2,59 kM2

1 akp = 4 pyaam = 4 046,86 m2

1 pya = 40 pogam? =1 011,71 m2

1 poa? (nonb?, nepy?) = 30,25 apaam? =
25,293 m2

1 apa? =9 ¢pyram? = 0,83613 M2

1 dyT2 = 144 groimam2 = 929,03 cm2

1 aonm2 = 6,4516 cm2
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Be. leaMVI “ B MOHETHOM [1BOpE.
WHbI — YHT, yHUMS U NEHHUBEWT.

M = 5760 rpaHam = 373,242 r
j_ | 0 822857 dyHTa mMacchl = 13

f215277 dyHTa Tpomckoro = 1
yHuva 280 rpaHam

1 a1 yi st (Ipouickas yHums) (uncia, 0z) =
: "'24 CprnynaM = 480 rpaHam = 31, 1034768

;.r.,.

>. a = 2,5 neHHuBenTa = 1/8 yHwal = 3 ckpynyna =
60 rpaHam = 3,88793 r

"1 reHHuBeT] NeHHNBENT (aHr. pennyweight — Bec

~ © MAeHHU) = 24 rpaHam = 1,55518 1

1 kapat = 3,086 rpaHa = 200 mr

1 rpad (granum)(ao 1985 roga) = 20 maitTos = 480
aouTtoB = 9600 nepuotoB = 230400 613HKOB =
64,79891 mr

1 mant = 24 povita = 480 nepnotoB =11520 613HKOB
= 3,24 mMr

1 pont = 20 nepuotoB = 480 613HKOB = 0,135 Mr

1 nepuoT (periot)= 24 6nsHkam = 1/20 govita =
0,00675 mr

1 6n3HK (blank)= 0,000281245 mr

Ten

1 yengpoH (Yengep) (chd)(B nepeBoae ¢ dp. «koTen,
60nbLIoV YanHuk») = 32-36 bywenam = 1268—1309 n
(am3)(= 36 bywenam = 288 rannoHam = 46,237 kyb6.dyTa
= 1,3091 m3)

1 kBapTep = 2 KoyMaM = 64 ransioHam = 8 bywenam =
290,93 n (am3)

1 koym = 4 bywenam = 32 rannoHam = 145, 475 n (gm3)
1 B6appenb ana ceinyumx ten = 36-40 ranioHam =
163,6-181,7 n (am3)

1 cak (B nepeBoAe C aHri. «Mewok») = 3 bywenam =
109,05 n (am3)

1 cTpaiik = 2 6ywensam = 72,73 n (aM3)

1 6ywenb = 4 nekam = 8 rannoHam = 32 Cyx. KBapTaM =
62 cyx. nuHTam = 1,032 am. bywensa = 2219,36
Kybuueckum atonMam = 36,36872 n (aAM3)

1 nek = 2 rannoHam = 1,032 neka aMm. = 9,092 n (am3)
1 rannoH = 4 kBapTaM = 8 nuHTaM = 4,546 n (aM3)

1 kBapta = 2 nuHTaM = 1,032 kBapTbl aM. = 1,136 n
(am3)

1 kBapTepH cyX.(4eTBepTb) = 1/4 neka = 2 KBapTbl =
2,2731 n

1 nuHTa = 0,568261 n (aAM3)
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